
The normal distribution
has a density ( bell curve)
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Dividing the argument of a function by a unwise > n,

e. g. by 2
,

makes the graph hides
.

Hence
,

the bigger 8 in the normal density, the wider

the graph , the greater
the variance of the distribution .
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korollai : Seen )t~Nlµ* , 8*2 ) , Y - N(µy,8y2) , a ,b c- ☒ .
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Dann gilt

• alt tb ~ Ncaa# + b , aZ8É)
• 71+9 n Nlµ*+µy , 8*2+85 )

heir Schreiber Ncaa ) - verteilte Zveu als 2-
.

Satz : Seien 2- ~ Nloil)
,
It ~N(µ , E) . Dann gilt

• 8 2- + µ
~ WIMPY

•

H -M
~ Nloil)8



It ~ Nlµñ)

Turn 7€ into 2- ~ Nco ,e )

How :

K had year µ ,
war. 22

2- has memo ,
vav 1

1) Turn ☒ into a Rb with mean 0

It -µ

2) Turn K -u into a RV with Uar (= Strollo ) =p

k-j.ua#Y-)=fzUalx--m--IzVarCk-l=I.8'=n



2- ~ Ncar)

→ It ~ Mµ8)

go in reverse direction :

- multiply by 8

- add µ

8 2- +µ


